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sin(z?) 0
9. [9 points] Consider the function f(z) = T TF

c z=20.

a. [2 points] Find the value of ¢ that makes the function f(zr) continuous at z = 0. Show
your work carefully.
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Answer: c=

b. [2 points] Let by, be the nth positive value of x such that f(z) = 0.
Write a formula for b,.
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Answer: b, = hT™
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For parts ¢ and d below, let a, = (z)dx for n > 1.
bn—1 ’

c. [2 points] Explain why a, is an alternating sequence.
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d. [3 points] Compute lim an. Provide clear justification and show your work.
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Answer: lim a, =
n—o0
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